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; 100kN/m##825| 1.00 | 000 ~ 1.99 130.66 |3m%Ex{BZ 3 -~ - -| 100kN/mi% 2% | 1.00 | 1080 ~ 1800| 150.66 |3mEREZD ~ -
Zzhn s 1001199 ~ 977 100.00 | This | 0oo ~ 977|251 12.67 Zhs 1.00]5.00 ~ 1080 100.00| ThLS | 500 ~ 1800|251 12.67
2 100kN/m##8%%5| 1.00| 000 ~ 202 131.15|3m&E8BZ5% ~ -| 100kN/m#%#Z25 | 1.00 | 1066 ~ 1800 131.15 |3mZEiBZ5 ~ -
Zhnst 1001202 ~ 980 100.00| ThUs | 0oo ~ 980|247 12.46 zh st 1.00 | 5.00 ~ 1066 100.00| TnLS | 5.00 ~ 1800|247 12.46
3 100kN/m##8%%5| 1.00| 000 ~ 044 10645 |3mEBZ5 ~ -| 100kN/mi%#825% | 1.00 | 11.70 ~ 1300 106.45 |3mEEZD ~
zh st 100044 ~ 822| 100.00| Ths | 000 ~ 822|244 12.35 ZThLLst 1.00 | 500 ~ 11.70| 100.00 | #hS | 500 ~ 1300 | 2.44 12.35
4 100kN/mM#%#BZ % ~ -|3mZ#BZ 5 ~ -| 100kN/mM%#B =% ~ -|3mE#BZD ~
ZznLst 1.00 | 0.00 ~ 6.91 87.69 | #hst | 0oo ~ 691 1.94 9.81 zh st 1.00 | 5.00 ~ 9.20 87.69 | #hs | 5.00 ~ 920 | 1.94 9.81
5 100kN/mM#%#BZ % ~ -|3mZ#BZ 5 ~ -| 100kN/m%#8 =% ~ -|3mE#BZD ~
ZznLst 1.00 | 0.00 ~ 6.91 87.69 | #hst | 0oo ~ 691 1.94 9.81 zh st 1.00 | 5.00 ~ 9.20 87.69 | #hs | 500 ~ 920 | 1.94 9.81
6 100kN/mM#%#BZ % ~ -|3mZ#BZ 5 ~ -| 100kN/m%#8 =% ~ -|3mE#BZD ~
ZznLst 1.00 | 0.00 ~ 6.82 86.33 | =N | 000 ~ 682|200 10.12 zh st 1.00 | 5.00 ~ 9.560 86.33 | #hst | 5.00 ~ 9.50 | 2.00 10.12
- 100kN/mM#%# 8% % ~ -|3mZ#BZ 5 ~ -| 100kN/m%#8 =% ~ -|3mE#BZD ~
Zh s 1.00 | 0.00 ~ 682 86.33 | #hiist | 0oo ~ 682|200 10.12 Zh st 1.00|5.00 ~ 9.50 86.33 | #ns | 5,00 ~ 9.50 | 2.00 10.12
s 100kN/mM##BZ 5 ~ -|3mZEEZS ~ -| 100kN/m%#EZ % ~ -|3mEEZS ~
zh s 1.00 ] 000 ~ 411 51.44 | Fhlst | 000 ~ 411|204 10.54 Zh st 1.00 | 5.00 ~ 5.00 51.44 | FnS | 500 ~ 500|204 10.54
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zhnst ~ zhLs ~ zhst ~ zhLst ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
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100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
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100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
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Zzh st ~ Zzh st ~ Zh st ~ Zh st ~
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Zh st ~ Zzh st ~ Zhst ~ zh st ~
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